Clamp-style Universal Bracket™ (CUB)

CUB™ Base Mounting Options (Shown with optiona brackets):

‘il o
c [P N :
poens: oo Ty A7 T H A
A=) £, )N - lle < s )
i W L =T EETeT | = il LY
».!':l-ﬁ' R S E‘% S ] ..:f:r" @J P
T - ™, T _5".-# e |"-
i By ] L E h
\ Chats (2
P —_l"i- - .4”. h
FRod Mount Bolt-on T T-Slot Fivot Mount
it B-30-A brackes watth B-BALS-F hrackal valthi B-30-4 brackst with B-1B-8 bracke wiF B-18-0 brackst

Base Mounting Option specifications- Dimensions are mm(in), select sensor brackets from next page.

(1.04)
Rod mount CUB™ Adjust/lock 1/2" Rod
screw 5/32" hex See page 32
I Half-klamp set attaches to customer y
supplied 1/2" diameter rod stock, or ‘ 127
1/2" Rod see page 33 to purchase rods from .
. =T SoftNoze. Notes: 1) Materials; HalfKlamp- (??4'2;) | 0
fasAtcejJ:es:{lggT_S Bracket Mount zinc alloy, nickel-plated, adjust/lock fastners 303 2
19.8(0.78)Dia. SS. ¢ +
M8 T-Nut T
89.0 —-50.0 sz0 |
(3.50) (1.96) (0:12)
— CUB-T... Bracket Mount 19.8(0.78)Dia.
. \ A T-slot mount CUB™
) (1.18) T-slot bracket, two HalfKlamp sets and 255 (i Q
’ v rod assembly attaches to most brands (1.04) (| )
of extruded aluminum (T-slot). Notes:
l__ 237 ‘ 76.1 | 1) Materials; HalfKlamps- nickel-plated zinc al-
43.1 (0.93) (3.00) loy, Adjust/lock fastners- 303 SS, Bracket and
(1.70) Rod- stainless steel.
426
26.5 " (1.68)
404 CUB-B...
_ Bolt-on CUB™
H 14,
5/16" Hex H Half-klamp set and 3/8 bolt attaches 7(.55(1))
I i 371 to through hole or a 3/8-16NC tapped
ﬂ} : hole. Notes: 1) Materials; HalfKlamp- zinc
# (1.46) alloy, nickel-plated, fastners- 303 stainless | - -
N For
Adjustflock 15 7 .. é-:l-;i steel. (1.08) CUB™ Bracket
Screw . Mounting
5/32 Hex 3.20 Bracket Mount
i S B cuss.. |
26.8 Strut-mount CUB™ r 3/8"
42.7(1.68) max
(1.06) Half-klamp set, 3/8” bolt and strut clip o) Fasteners
55.0 attach to customer supplied 1-5/8” 28.7(1.18) min  _ 41-22
; (2.16) wide strut channels. Notes: 1) Materi- L A , { (158)
67.8 als; HalfKlamps nickel-plate zinc alloy, strut .
(2.67) clip- plated CRS other fasteners 303 Stain- I )
3/8-16 less steel. : ‘ g .
Fastener 1-5/8"
Strut

127
— A
0.50) [ -
0= (/:__J'________!_______Ej
r \ Model A Pivot-mount CUB™

(
[ i
| CUB™ Bracket .
L Uses no HalfKlamp set, thus provides only a
@:50'3) N — CUB-P... 0.00 (0.00) single pivoting axis. CUB brackets mount with
) N a 3/8” low-head bolt and bushing. Optional
! e CUB-P38... BELENER)] spacers, see pg. 33. Notes: 1) Materials:

Bushing, zinc-plated CRS, bolt and fasteners;
all stainless steel.

9624 / —— (1]: W58 762 (3.00)

Spacer, optional

5 D F '[ H Z E tel (315)732-2726 + fax (315)732-2963 +« www.softnoze.com
= 2216 Broad Street ¢ Frankfort ¢« New York ¢ 13340-5100 « USA

Pub. No. 50253 Rev.3 - 31PDF




